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2. (1 point) In the quote above, Abel talks about Gauss’ writing style. According to Abel, how easy was
it to understand Gauss’ work? Answer using complete English sentences.

G-evssS  (wirs hard fo UVOleSq'hNo’,

3. Answer the following.

(a) (2 points) Find the equation of a line that goes through the point (5,4,2) and is parallel to the
vector @ =< 6,8,2 >.

Rl = 6,4,27 « £ (b,8 2y

(b) (2 points) Find the equation of the plane that includes the point (5,5,3) and has normal vector
a=<8,9,5>.

8(x-5) +°~l(%«95 + 5(x-3Y=

u
4. (& points) Find the equation of the line in R3 that goes through the points/%3,8,4) andG(G, 6,1).

Express your answer in parametric AND symmetric form.
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5. (5 points) Find the equation of the plane in R® that goes through the points‘fl, 1, 7),9(7, 8,4), and
£(2,5,9). You do not need to simplify your result.

Ao= $6,%,-M The plarve iy |
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Aoxw A = Szh, -15, i%)

6. (5 points) Find the equation of the line where the planes’ 7% + Y= £ and” k.z,-rv $ Z = (< intersect.
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7. Answer the following.
(a) (2 points) Give an example of the equations of two parallel planes.

54—1'\6+%7D AV D W"g}*’%"i,

(b) (5 points) Give an example of two lines in R® that do NOT intersect. Show that the lines do
NOT intersect. 7
FlS = (o e+t Q2 3
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ser them equale (1,0, 17 = 502,10 - € (2,92
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8. (5 points) Use your calculator to graph the parametric curve £ = 2 + 3 cos(f) and y = 4 + 5sin(6) on

5 < 0 < 27. Clearly indicate on the graph the
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